Nov. 7th: 11.4 : The Comparison Tests

Answer Yeu

Warm-up / Review
1. Determine whether the following series converge or diverge. If possible, determine the value of the

series.
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In-Class Exercises

1. Determine whether the series E
n=1

Since ﬁ & 0ONVerges Zmn %\ Qlso

T converges or diverges.
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The Comparison Test. Suppose E a, and E b, are serics with positive terms. Then

n=1 n=1
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i. If E b, converges and a,, < by, then E a, converges.
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ii. If Z b, diverges and b, < ap, then Zan diverges.
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2. (Clicker) Which of the following series converge?
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a. Neither of them.
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3. (Clicker) Which of the following series converge?
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a. Neither of them.

b. I only

4. (Clicker) Which of the following series converge?
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a. Neither of them.
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